
B

A

76719 www.tvilum.com  Rev. H   30-08-2023



X24-6 hr

READING GUIDE
+ ASSEMBLE ON A RUG
+ TIDSBEREGNING
+ HOW TO SEE POSITION 
NUMBERS ON PANELS

 767192 / 40



15x14x10 mm
0.59x0.55x0.39"

x160110401

Ø5x30 mm
Ø0.2x1.18"

x320120203

Ø6,3x40 mm
Ø0.25x1.57"

x320120228

Ø3,5x15 mm
Ø0.14x0.59"

x320125233

Ø5,8x9 mm
Ø0.23x0.35"

x320126020

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x320131513

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x36
M4x9 mm
M4x0.35"

x160126214

Ø0.28x1.97"
Ø7x50 mm

0125610 x8

3.94x2.17"
100x55 mm

0194073 x2

4x49x37 mm
0.16x1.93x1.46"

x10197642

Ø0.31x1.18"
Ø8x30 mm

0120209 x27

Ø0.1x0.79"
Ø2,5x20 mm

0123010 x10

Ø3,5x35 mm
Ø0.14x1.38"

x40125244

Ø0.2x1.5"
Ø5x38 mm

0125604 x12

Ø6,3x27 mm
Ø0.25x1.06"

x100126033

25,4x9,5x13 mm
1x0.37x0.51"

x40133203

Ø1.1x0.83"
Ø28x21 mm

0181009 x12

M6x20 mm
M6x0.79"

x60162403

Ø0.55/Ø0.35x0.61"
Ø14/Ø9x15,5 mm

0122005 x6

555x16x6 mm
21.85x0.63x0.24"

x20174416

0141417

17x310/400 mm
0.67x12.20/15.75"

x16

Ø0.28x3.35"
Ø7x85 mm

0131412 x2

25 pcs

0.06x0.98"
1,4x25 mm

0123006 x3

M4x0.98"
M4x25 mm

0126234 x12

 767193 / 40



4.25x2.99"
108x76 mm

088110 x1

 767194 / 40



470x474,5x15mm

08814

08814

GF

FK

HJ

JC

IC

LC

76162 76163

7616276156

76163
PH

KQ
0881408814

76157

GF

KP

KP

KP

KP

GG

07031 x4

EG x4

03395 x4

00743 x4

00744 x4
00732 x4

00731 x4

07030 x4

EH x4

03418 x4

x4 x4

 x3  x2

 767195 / 40



470x474,5x15mm

479x48x32mm

76162 x2

385x140x12,2mm

03418 x4

400x170x12,2mm

00743 x4

479x48x32mm

76163 x2

400x140x12,2mm

00732 x4

400x170x12,2mm

00744 x4

400x140x12,2mm

00731 x4

821x170x12,2mm

03395 x4

854x70x18mm

KP x4

850x239x18mm

EG x4

 x3  x2

 767196 / 40

BOX 1/3



396x396x3mm

396x396x3mm

07030 x4

744x449x18mm

FK

198x442x18mm

GF x2

744x449x18mm

HJ

832x397x3mm

07031 x4

1822x479x18mm

JC

726x444x18mm

GG

827x435x2,5mm

08814 x4

 x3  x2

 767197 / 40

BOX 2/3



396x396x3mm

414x191x18mm

EH x4

1834x485x18mm

IC

1726x73,5x18mm

PH

1822x48x32mm

76156

1822x48x32mm

76157

1726x70x18mm

KQ

1834x485x18mm

LC

 x3  x2

 767198 / 40

BOX 3/3



Ø0.14x0.59"
Ø3,5x15 mm

0125233 x6 *
Ø5,8x9 mm
Ø0.23x0.35"

x60126020 0141417

17x310/400 mm
0.67x12.20/15.75"

x3

0126020

2

0125233

*

4

0126020

1

0125233

*

3

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

Ø0.31x1.18"
Ø8x30 mm

0120209 x4

FK

1

FK

 767199 / 40

1

2



Ø0.14x0.59"
Ø3,5x15 mm

0125233 x6 *
Ø5,8x9 mm
Ø0.23x0.35"

x60126020 0141417

17x310/400 mm
0.67x12.20/15.75"

x3

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

Ø0.31x1.18"
Ø8x30 mm

0120209 x4

0126020

2

0125233

*

4

0126020

1

0125233

*

3

HJ

HJ

1

 7671910 / 40

3

4



Ø5,8x9 mm
Ø0.23x0.35"

x40126020

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x4 0141417

17x310/400 mm
0.67x12.20/15.75"

x2

0126020

2

0125233

*

4

0126020

1

0125233

*

3

*

GF x2

1

 7671911 / 40

5



Ø5,8x9 mm
Ø0.23x0.35"

x40126020

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x4

Ø0.31x1.18"
Ø8x30 mm

0120209 x4 0141417

17x310/400 mm
0.67x12.20/15.75"

x2 *

0126020

2

0125233

*

4

0126020

1

0125233

*

3

GF x2

1

 7671912 / 40

6



Ø5,8x9 mm
Ø0.23x0.35"

x60126020

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x6 0141417

17x310/400 mm
0.67x12.20/15.75"

x3

0126020

2

0125233

*

4

0126020

1

0125233

*

3

*

GG

1

 7671913 / 40

7



Ø5,8x9 mm
Ø0.23x0.35"

x60126020

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x6

Ø0.31x1.18"
Ø8x30 mm

0120209 x3 0141417

17x310/400 mm
0.67x12.20/15.75"

x3 *

0126020

2

0125233

*

4

0126020

1

0125233

*

3

GG

1

 7671914 / 40

8



Ø0.55/Ø0.35x0.61"
Ø14/Ø9x15,5 mm

0122005 x6

M6x20 mm
M6x0.79"

x60162403

JC

JC

 7671915 / 40

9

10



25,4x9,5x13 mm
1x0.37x0.51"

x40133203

76156

76163

76162

76157

76163

76162

 7671916 / 40

11



Ø0.2x1.5"
Ø5x38 mm

0125604 x12

Ø6,3x27 mm
Ø0.25x1.06"

x40126033

0125610

Ø7x50 mmØ5x38 mm

0125604

7615676162

LC

76163

76157

IC

76163

76162

 7671917 / 40

12



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x80131513

LC

IC

 7671918 / 40

13



Ø0.31x1.18"
Ø8x30 mm

0120209 x12

KQ

PH

KP x4

 7671919 / 40

14



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

Ø0.28x3.35"
Ø7x85 mm

0131412 x2

1 32

KP

GG KP

KP

KP

 7671920 / 40

15



Ø7x50 mm
Ø0.28x1.97"

x80125610

4x49x37 mm
0.16x1.93x1.46"

x10197642

GF

GF

PH

KQ

 7671921 / 40

16



Ø15x9,5 mm
Ø0.59x0.37"

x80131687

FK

HJ

 7671922 / 40

17



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

LC

 7671923 / 40

18



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

IC

 7671924 / 40

19



Ø6,3x27 mm
Ø0.25x1.06"

x60126033

JC

 7671925 / 40

20



21.85x0.63x0.24"
555x16x6 mm

0174416 x2

Ø0.1x0.79"
Ø2,5x20 mm

0123010 x4

Ø0.1x0.79"
Ø2,5x20 mm

0123010 x6

25 pcs

0.06x0.98"
1,4x25 mm

x30123006

08814

08814

08814

08814

 YY 

 XX XX = YY

 7671926 / 40

21

22



X2

  

1

3

  

2

25-08-2022 JTJA:
WARNING - LIFT FURNITURE WITH CARE

27 / 40 76719



Ø3,5x35 mm
Ø0.14x1.38"

x40125244

GG

GG

 7671928 / 40

23



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

29 / 40



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

30 / 40



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

31 / 40



/4033

3.94x2.17"
100x55 mm

0194073 x2

 7671932 / 40

24



?
30mm
1 1/5"

30
m

m
1 

(1
/5

)"

?
?

98

121110

7

654

321

17-05-2021 JTJA:
94009 tipover restraint guide
VERSION 1

Assembly guide.

33 / 40  76719



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x160131513

Ø5x30 mm
Ø0.2x1.18"

x320120203

EG x4

EH x4

00744 x4

00743 x4

00732 x4

00731 x4

 7671934 / 40

25

26



Ø15x9,5 mm
Ø0.59x0.37"

x160131687

x4

00744

00743

EG

x4

07031

x4

07030

00732
00731

EH

 7671935 / 40

27

28



Ø6,3x40 mm
Ø0.25x1.57"

x320120228

Ø1.1x0.83"
Ø28x21 mm

0181009 x12

M4x0.98"
M4x25 mm

0126234 x12

x4

03395

x4 x4

x4

03418

 7671936 / 40

29

30



1 2

15x14x10 mm
0.59x0.55x0.39"

x160110401

x4

 7671937 / 40

31



x3

M4x9 mm
M4x0.35"

x160126214

3

21

EH
EH

EH EH

EG

EG

EG

EG

 7671938 / 40

32



4.25x2.99"
108x76 mm

088110 x1

 7671939 / 40

33



MAX

lbs

kg

XX
XX kg

lbs
XX
XX

lbs

kg

9
4lbs

kg

110
50

lbs

kg

20
9

40 / 40 76719© TVILUM A/S 2018


